	Write in figures the number that is one less than

seven and a half million.
	
	How many metres are there in 2.5 kilometres?

	
	
	

	Two angles fit together to make a straight line.

One of them is 86. What is the other?
	
	A person’s heart beats 70 times in 1 minute.

How many times does it beat in 1 hour?

	
	
	

	1 ounce is about 28 grams.

About how many grams are 3 ounces?
	
	Carpet tiles are 50 cm by 50 cm. How many are

needed to cover one square metre?

	
	
	

	Four oranges cost 37p. What do 12 oranges cost?
	
	Estimate the value of 502 ÷49

	
	
	

	The probability that it will rain in August is 0.05.

What is the probability it will not rain in August?

	
	Solve 45 + x = 92


	14 ×39 = 546. What is 14 3.9?
	
	The sum of p and q is 12.

The product of p and q is 27.

Calculate the values of p and q

	
	
	

	Find 25% of 10% of £400
	
	Four sunflowers have heights of 225 cm, 199 cm, 185 cm and 239 cm. What is their mean height?

	
	
	

	Make 36 using any combination of +, –, ×, ÷ and

brackets, and each of 1, 3, 3 and 5 once.
	
	Take a pair of consecutive integers. Square each of them. Find the difference of the two squares. Repeat with different pairs of consecutive integers. Repeat with a pair of numbers whose difference is 2, or 3, or 4 …

	
	
	

	Use each of the digits 1, 2, 3, 4, 5, 6, 7 once. 
Write them in the boxes to make this statement true:

+ + + = 100
	
	The numbers 3 and 10 are written on the front of two cards. There is a different number on the back of each card. When the two cards are on the table, the sum of the two numbers showing can make 12, 13, 14 or 15.

What two numbers must be on the back of the cards?

	
	
	

	Three consecutive integers add up to 87.

What are they?
	
	Find two numbers whose sum is 14 and whose product is 48.


	Two years ago Jim’s height was 1.48 metres. Now Jim’s height is 1.7 metres.

How much has Jim grown?
	
	Two of the angles of a triangle are 47and 85.Calculate the third angle.

	
	
	

	You get $56 for £40.

How many dollars do you get for £100?
	
	75 miles per hour is about the same as 33 metres per second. About how many metres per second is 50 miles per hour?

	
	
	

	In a raffle, half of the tickets are bought by men. One third are bought by women. The rest are bought by children. What fraction of the tickets are bought by children?
	
	The ratio of men to women in a room is 3 to 5. There are 12 men. How many women are there?

	
	
	

	x = 2 and y = 3. Work out the value of x to the

power y plus y to the power x.
	
	Some girls and boys have £32 between them.

Each boy has £4 and each girl has £5.

How many boys are there?

	
	
	

	What is the value of 6 n + 3 when n = 2.5?
	
	Sandy and Michael dug a neighbour’s garden. They were paid £32 to share for their hours of work. Sandy worked for 6 hours. Michael worked for 2 hours.

How much should Sandy get paid?


